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1 | RapRl{EE JLHeT] 857.83 4051 24
2 | kA 30 7y EEAGLE =EARET 861.6 0441-7 99 16
3 | EATREE?? o 855 2222 99 12
4 | BEER [ = 5 857.7 4312-2 11
5 | ZZ AW - ghiEE e HIEET 861.6 4158 100 10
5 |z BETE 857.83 6017-2 96 10
6 | Robbins E:pfypEmes Vinay 415.1 0040 98 9
6 | &TF S T] 857.7 4051-8 95 9
7 | APRELIREE NG B 855 2222 99 8
7 | OPREIDUREE EIE ) 855 2222 94 8
7 | 150cm life =ARET 861.6 0441-3 96 8
7 | EE A 857.7 5754-3 99 8
7 | LHEER TEEHT 170 4420-2 93 8
7 AT WREFEE 861.57 5641-12 96 8
7 | —EAERT EARET 861.6 0441-9 98 8
7| —EAEE 9E EARET 861.6 0441-10 99 8
8 | EGkimsER FECEK 857.63 2700-6 93 7
8 | —ENEANHT EARET 861.9 0441-8 97 7
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